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S TERNERTE
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®2 MHEENERTREAREHESHIETANN X SR
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¥
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Xt N He
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realmCode

HudsARHS, "CN" AR

typeld

SCRYVE WAL, B4g (A @root="2.16.840.1.113883.1.3",
POCD_MT000040"

@extension="

templateld

VRS SRS OID, 3 4 @root="2.16.156.10011.2.1.1.13"

id

LHmS, MCRESRRS H )@ root="2.16.156.10011.1.1.1.4", Tfj &
%5 B T id/@extension 77

DE01.00.008.
00

code

FH V8 I AC 8% SCRE 26, Hodh @code="HSDB04.02",
@codeSystem="2.16.156.10011.2.4", @codeSystemName=""T 415 &It
ER VAL R R

title

SCREARAE, BEAE D 2 R PRIPS B B U IR 351D %

effectiveTime

pa=tolfe |

confidentialityCode

UREEE A, HrP VS @codeSystem="2.16.840.1.113883.5.25"

languageCode

AEE R Y, HPp A {E: @code="zh-cn"

setld

MRS, JuR<setld> I LLBEMEIT K HRME: HARGA™
RN AE

versionNumber

SCRERRA S
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S 5B RTCE M R 5 T R ok A i iR IR

®3 SE5EARFEALHSHEINNNXER

TREH ¥ ST MR
recordTarget L | OO R AR B IUR A
@typeCode="RCT", @ contextControlCode="OP"
|--patientRole 1.1 | EBFMAM, Hi e E@ classCode="PAT"
. RIS, HPEEE@ root="2.16.156.10011.1.2",
-I-id L1 | i Akt s 5 B T id@extension DE01.00.009.00
|--|--addr 1.1 | FKEMAN, HhBEE use="H" GridHshkZEm )
|--|--|--houseNumber k-1 TS 10 DE02.01.009.06
|--|--|--streetName AR (B % 5D DE02.01.009.05
|--|--|--township Hhk-2 GGH, #IEFAD DE02.01.009.04
|--]--|--county Hodk-H (X)) DE02.01.009.03
|--|--|--city Huhk-1h - (X DE02.01.009.02
|--|--|--state Hihk- (HWRIX. BT DE02.01.009.01
|--|--|--postalCode 0.1 | MEBGwAG DE02.01.047.00
|--|--telecom 0.* | BRRHIE DE02.01.010.00
BENMAEAEL, HPEEHE classCode="PSN"
[---patient 0.1 @determinerCode="INSTANCE"
|--|--]--name 1.% | BEuA DE02.01.039.00
|--|--|--administrativeGenderCo BN, R GBIT 2261.1 brfifthy, Hrih
de @codeSystem="2.16.156.10011.2.3.3.4" DE02.01.040.00
|--|--|--birth Time | BEMAEEM DE02.01.005.01
. BE SRS, BT GBIT 2261.2 A0S e, Frb
|--|--|--maritalStatusCode 0.1 @codeSystem="2.16.156.10011.2.3.3.5" DE02.01.018.00
. Rk, H GB 3304 fCHgdriE, Hoh
[--~I--ethnicGroupCode 0-1 1 @codeSystem="2.16.156.10011.2.3.3.3" DE2.01.025.00
|--|--|--birthplace 0.1 | H4H
HrhHa i
b---I-place 1.1 cIassCode:"E’@LC" ,@determinerCode="INSTANCE"
|-=|--]--|--|--addr 0.1 | HZEHbnE
x| SURYBIER, B4 {H: @typeCode="AUT",
author L. @contextControICode:"Oge
|--time 1.1 v H #A DE06.00.024.00
|--assignedAuthor 1.1 | f8E0MEH, #B1H: @classCode="ASSIGNED"
f--id 1« | MEEHME—FRIRE, @ root="2.16.156.10011.1.7" Ifi F 4
i 9% 5 BT id/@extension
|--]--assignedPerson 1.1
|--|--|--name 0.1 | FETHERAUEA DE02.01.039.00
|--|]--representedOrganization 0..1
el feid 1 q | BEBZHET UG R, ot @root="2.16.156.10011.1.5",
B AR 4m 5 B T id/@extension H
|--|--|--name 0.1 | BRAEFTERAHAK
|--|--|--addr GIRAE SIS
custodian 1.1 | SCMEERNLAAE B, H P EE [H @typeCode="CST"
|--assignedCustodian 1.1 | #%1E: @classCode="ASSIGNED"
|--|--representedCustodianOr | FIEH TGRSO A B AR E YL LR, o
ganization v @classCode="ORG" , @determinerCode="INSTANCE"
e |-id 1« | CERETERITHUGERR, Ht@root="2.16.156.10011.1.6",
i i BAA K 9m 5 B T id/@extension H
|--|--|--name 0.1 | REVEAIK
|--|--|--telecom 0.1 | fREWL TG
|--|--|--addr 0.1 | fREWLHbIE
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5.3 XEERNEHE
FRIIE BN RN 70 2R 2H B A e 5 JHfE o (R0 R 5% R ik WK 4.
F4 KEEDNEAETREMEESHETH IR

TLRAH HEH Ui B S8R Xof LB TTh R R

RCHE R, RIEA SR 5 CRAIRTAERC R, PLAGI AR

relatedDocument 0.* ) . e . ) o
SCRAHIAE R, (8 T 1B A R SR SR ) SRR SR B A

|--parentDocument 1.1 | A230Hy

|--|--id 1x | SOSCHERRIRTF

|--|--setld 0.1 | XHERFFS

|--|--versionNumber 0.1 | XXHRAES

6 THEEAE

6.1 ICHHRETIHIRL
b 55 SRS T A4 Bl ik ILAR5

™S MHERIRETIAR

EHER #E=H | AR R

SRR B ) 1.1 R FEH T BEV5 77 A BE 5 I (8]

IR 2 T 1.1 R | R TR I I R £ 2R

EROLINON r] 1.1 R | EEAFMREMAME, WIEAE. W, PR, k. 5. AE, S0HE

A 77 ST 1.1 R | FEA TR EFH ARG EE R I WP &5 T P 2%

YTV RIE Y 1.1 R | TR RS A E B R I, TR R &5 07 T 1 H ARzl e

SO0 E A T 1.1 R | FEATCEMIMEETH. HH. &RMAREHLEE

% &5 1.1 R | EERXTHEHAAMAERidE
B U VA3 FH 3 — M A B R N B EA T o T BAS s ARG, B30 Rk N TR A P

T VTl 7 1.1 R e BT AL, R, mIRRA, BRI N ERATREV )G, R R
Z5 R GRICIE FRER 0 BT A HE P B 2 DA

oS 0.* St BEHLHATHIN, IR I

NRBEV AR | L1 R TN TR YRt U e (] 22

6.2 BEIFEHET

6.2.1 MEIHEHEDE

B Ak

e A 5T 2% H R RO 6

=6 BEHTEHETIRBEMK

% HABWK ¥ HR iR
BT H 1.1 R P i b 15 5 ANl 7 i (8]

6.2.2 MEHARNETBTEEARK

4
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_ 4l . N X L PRI
TCERAIR Rt M - P SHR P
component BE R ETRLR
|--section
code
- code codeSystem L1 eV S = A, Hoh @displayName="fi
displayName A
codeSystemName
|--|--text PNES
|--|--entry 1.1 | R | WEVIFH%H
) classCode Hd @classCode="CASE ", @
|--|--|--Observation
moodCode moodCode="EVN"
codeSystem b5 7 A%, HH @ codeSystem

|--|--|--[--code codeSystemName | 1.1 | R | ="2.16.156.10011.2.2.1", @ codeSystemName=" DE06.00.108.
PAEEHETHER" %

|--|--|--|--effectiveTi o DE06.00.109.
AR [R]

me 00
BV 7 AR U, HA s Ee

|--|--|--|--value codeSystem="2.16.156.10011.2.3.1.183" ,@code
SystemName="Ffjj J5 WAL &

6.3 fERET

6.3.1 FERETHZREMRK

R B 1 2% H A UL 28
*8 MERET HFBMIAL
% HAK FEH AR Ei:23%)
RERAAS 1.1 AR BREIRERT 5E S B 1 2 B AR
REAR A4 R 1.1 AN L I AR R 2 EERECIR Y 44 B

6.3.2 ERETTTERERAK

REIR 7 70 3 A R A K9
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R9 ERETTRER
® | 4 PEPVA: €
TLRAEHR Bt i B SR e
H | K TORRIRFF
component IEREFMRTE
|--section
code AR TN, Hh@ code="11450-4",
- cod codeSystem 1R @displayName="PROBLEM LIST ",
--|--code
displayName @codeSystem="2.16.840.1.113883.6.1"
codeSystemName @codeSystemName="LOINC"
|--|--text NS
|--|--entry 1| R | iERMAFEZE
|--|--|--Observati classCode
21 Hrr@classCode="0BS",@moodCode="EVN"
on moodCode
codeSystem ARG % HAD, o,
DE04.01.116.
|--|--|--|--code 1 | R | @codeSystem="2.16.156.10011.2.2.1",
codeSystemName e 00
@codeSystemName=""T 415 B3t H %"
SERACID 4% HBUE, L k& H@ codeSystem="
[--|--[--|--value 1 | R | 2.16.156.10011.2.3.3.11.1",@codeSystemName="%F Ik
fRI%#% (ICD-10R) "
|--|--entry 1 R E%’%*ﬁ% E
|--|--|--Observati classCode
.1 H A @classCode="0BS",@moodCode="EVN"
on moodCode
codeSystem SRR HARS, Hor,
DE04.01.118.
|--|--|--|--code 1 | R | @codeSystem="2.16.156.10011.2.2.1" ,@codeSystem
codeSystemName oy 00
Name="T 415 B4 o H 3"
|--|--|--|--value 1 | R | fERARK EHEUA

6.4 HAFMEET

6.4.1

A AR R B

A A PRAE 2 2% H AL R 10,
R0 EHPMEETHEEEN

% HABWK ¥ | 4K iR
i35 2% H 1.1 R R W e kR (K R, TR0 mmHg
R % H 1.1 R PRE RN E, HERLN kg
Bk H 1.1 R AR E (ko) RS T (m®) TR E
AT DK SRS H 1.1 R TR E NSRS, B R AR R
FiAh BHMEARAE S H 0.1 o) SR H A BH PR AT 2% H

6.4.2 HHHEETTEREEARMR

A AL B TR A A IR 1L

=11 EHREEBTEERK




WS/T XXXXX. 13—XXXX

— 2 | 4 s s XoF LB 7T
3 ] 5B .
TLRAR =18 ¥ | % i B 5 H P
component AAaBEETRGE
|--section
code A RIS, H A @code="8716-3"
I---code codeSystem 11| r | @codeSystem="2.16.840.1.113883.6.1",
displayName " @displayName="VITAL SIGNS" ,
codeSystemName @codeSystemName="LOINC"
|--|--text NBEH
|--|--entry 1.1 | R | ME%H
. Hrh, @classCode="BATTERY",
|--|--|--organizer 1.1 @moodCode="EVN"
|--]--]--|--statusCode
|--|--|--|]--component 1.1 e &
|--|--|--|--]--Observation 1.1
code
codeSystem H, @codeSystem="2.16.156.10011.2.2.1" ,
- |-=]-= |-~ |- 1..1|R e St DE04.10.174.
F=F=}-I--I--code codeSystemName @codeSystemName=""T" % & ¥4} 7o H %" 0410.174.00
displayName
Xsi:type
|-=]--|-=[--|--|--value value 0.1 B8 {5 @xsi:type="PQ", @unit="mmHg"
unit
|--|--]--|-- component 11| R | 1%
|--]--]--|--|--Observation 1.1
code
codeSystem Hrf, @codeSystem="2.16.156.10011.2.2.1" ,
- |-=]-= |-~ |- 1..1|R A DE04.10.176.
F=F=}-I--I--code codeSystemName @codeSystemName=""T" % & ¥4} 7o H %" 0410.176.00
displ_ayName
|-=|=-]--|--|--|--value Xf/;:zze 0.1 B8 {5 @xsi:type="PQ", @unit="mmHg"
|--|--entry 1.1 | R | fkE%%H
|--]--|--Observation
code
codeSystem Hr, @codeSystem="2.16.156.10011.2.2.1" ,
Il--I--I--code codeSystemName LR @codeSystemName=""T4=15 & 5#fs ¢ H %" DE04.10.188.00
displayName
|--|--|--I--value xsi:type 0.1 A [H@xsiztype="PQ", @unit="kg"
|--|--entry 1.1 | R | pifa%i%H
|--]--]--Observation 1.1
code
codeSystem Hr, @codeSystem="2.16.156.10011.2.2.1" ,
Il--I--I--code codeSystemName L.1IR @codeSystemName="T 415 44 7t H %" DE5.10.075.00
displayName
xsi:type
|--|--|--]--value value 0.1 B4 1 @xsictype="PQ", @unit="Kg/m*"
unit
|_-|--entry 1.1 R Zj]ﬂﬂ(%ﬁzj]h— T /di
|--|--|--Observation 1.1
code
codeSystem Hrr, @codeSystem="2.16.156.10011.2.2.1" ,
-=[--|--|-- 1.1| R o i — DE04.10.237.
[--l-I--I--code codeSystemName @codeSystemName=""T 415 & H#f& t H %" 04.10.237.00
displayName
|--|--|--|--value 0.1 BB {H @xsitype="BL"
|--|--entry 1.1 | R | HAbPHPEMAIEAH
|--]--]--Observation 1.1
code
codeSystem H1, @codeSystem="2.16.156.10011.2.2.1" ,
Il--I--I--code codeSystemName L.1/R @codeSystemName=""T 415 & % # 7t H %" DE04.10.143.00
displayName
|--[--|--|-- value 1.1 H i3k, Hrh@xsi:type= "ST"
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6.5 HEEAXNET
EEAFRAETFEMK
PRI T AEA AR H MR 12,
F12 EFEAAETRBEMK

6.5.1

% HARK A YR E1:57)
A iE (30 0.1 0 il AR E (30
Hil & 0.1 0 iex HRINE
BENFE%H 0.1 0 LRIB R
B KR T 0.1 o] CFIBENI K
ECCy 18 JE| 0.1 0 R ERE
s ibis 0.1 0 03RO PR I A
WEAT N 0.1 o] B EAT A

6.5.2 EFEARETILREM
Az 77 ANE T TR A A IR 13,
®13 EEAREHTRENR

. , | 4 . \ of IO ) B3
TERABW B | s UILEESE 57 SRR
component AEEHTRENRGE
|--section
|-|--code code 1.1 | R | RV a6, H b @displayName="4: i J7 2"
|--|--text NEEHR 7>
|--|--entry 0.1 | O | HRMHEXKH
|--|--|--Observation ggzz%%%i 1.1 Hh @classCode="0BS", @moodCode="EVN"
codeSystem H W & 2% B ARRY,  Hor, DE03.00.05
|--|--|--|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" 3 60 '
codeSystemName @codeSystemName=""T /=15 2 ¥ 7t H %" '
- bt-l-value 11 El_ﬂﬁi% H ﬁﬁ%ﬁl_ﬁ, His B Ee@
xsi:type="PQ", @unit="37"
|--|--entry 0.1 (0] El @((@%% H
|--|--|--Observation ggzz%%%i 1.1 Hrh@classCode="OBS", @moodCode="EVN "
codeSystem H il &% 50, HA,
|--|--|--|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , DE?@%O'OE’
codeSystemName @codeSystemName=""T": {5 & ¥4 ¢ H " '
- |-value 11 H AR & 4% B AR, Ko Ee
xsi:type="PQ", @unit="p"
|--|--entry 0.1 | O | izshi%E%H
|--|--|--Observation rﬂggﬁ%%%i 1.1 HH@classCode="0OBS", @moodCode="EVN"
codeSystem B % HAARS, Hib, DE03.00.08
|--|--|--|--code codeSystemName 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", 7.60 '
@codeSystemName=""1 41 B34l ¢ H %"
BAH S HAEUE, HAiaEe
|--|--|--]--value 1.1 | R | @codeSystem="2.16.156.10011.2.3.1.23" ,
@codeSystemName="B A& S AT RA L "
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%= 13 (&)

_ ) 2 | 4 . - xof L I B3
TERAWR B % | ® VRS SRR
|--|--entry 0.1 | O | BEINKISEH
|--|--|--Observation classCode 1.1 Hrh@classCode="OBS", @moodCode="EVN"
moodCode )
codeSystem BN KRS H AR, Hd, DE03.00.08
|--|--|--]--code codeSystemName 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", 8.60 '
@codeSystemName=""T 415 & ¥z ¢ B 3"
|--|--|--|--value 1.1 | R | @M KiS & ERIEBEE
|| |--[--|--widith L @unit="min"
|--|--entry 0.1 | O | H¥f&&E (p %H
|--|--[--Observation ggzz%%%i 1.1 H @classCode="0OBS", @moodCode="EVN "
codeSystem HE&E (@ R, H,
[} }--|--code codeSystomame | L1 | R | @codeSystem="2.16.156.10011.2.2.1" , DEQ3 V05
@codeSystemName=""T 415 B ¥ 7t H 5"
codeSystem NP
||~ |--|--value = desystgmName 11| R | AEgE (@ #
|--|--entry 0.1 ADIEU%%XE%% H
|--|--|--Observation ;:ggsd%%%‘z 1.1 H 1 @classCode="0BS", @moodCode="EVN "
codeSystem O IR 2% H A, Fod, DE05.10.08
|--|--|--|]--code codeSystemName 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , 300
@codeSystemName=""T 415 B4t H %"
codeSystem O HRESHUE, HF @ @codeSystem="
|--|--|--|--value codeSystemName 1.1 R | 2.16.156.10011.2.3.2.26 ", @codeSystemName="1(»
RBP4 AR
|--|--entry 0.1 | O | MEATHMENH
|--|--|--Observation ggzz%%%z 1.1 H i @classCode="OBS", @moodCode="EVN "
codeSystem MEAT LK A, o, DE05.10.06
|--|--|--|--code codeSystemName 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , 8.60 '
@codeSystemName=""T 415 B4 ¢ H %"
WERAT AMEERE, HH@codeSystem="
|--|--|--|--value codeSystem 1.1 | R | 2.16.156.10011.2.3.2.27 ", @codeSystemName="fifi
Vi EAT i g R AR
6.6 ATIHTXIET
6.6.1 JRTITRIETFBHEMK
BITTHRIE T 2% H MR 14
x4 RITIRIET ZBARK
X HAWK =R AR iR
HbrikE 0.1 0 itk HAMAE
H bR R F5 3 0.1 0 i3k HARA B R 5
H s B E GO 0.1 0 il s HBUEE GO
H br B0l & 0.1 0 sk s BN &
Hirizah g4 H 0.1 0 ok Hbrig g A
Hiriggh Kige 0.1 0 itk Hirig gy &
Hir EfriE % H 0.1 ¢) WxkHBEER
6.6.2 JRTITRIETTRARK

2
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®15 RITITRIETL TRAER
Z |4 PIP VAL €y
TLRAR Rt PSR _.
H | K PRIRRF
component BT RIENRILE
|--section
HRTT TR F AU, e @code="18776-5"
|- |--code code 1.1 | R | codeSystem="2.16.840.1.113883.6.1",
@displayName="TREATMENT
PLAN",@codeSystemName="LOINC"
|--|--text NS
|--|--entry 0.1 | O | BffkEL%H
classCode
|--|--|--Observation 1.1 H@classCode="0BS", @moodCode="EVN "
moodCode
codeSystem Hbrfk EARES, o,
|--|--|--|--code 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , DE04.10.188.00
codeSystemName @codeSystemName="_T =1 B335 ¢ H &"
|--|--|--|--value codeSystem 1.1 | R | AfiREM
|--|_-entry 0.1 O H *i"ﬁ”ﬁ Eﬁ% H
classCode
|--|--|--Observation 1.1 H b @classCode="0OBS", @moodCode="EVN"
moodCode
codeSystem B bR B AR ERS, Hor,
|--|--|--|--code 1.1 R | @codeSystem="2.16.156.10011.2.2.1" , DEO05.10.075.00
codeSystemName @codeSystemName=""T =15 & 4 7t H %"
|--|--|--|--value codeSystem 1.1 | R | AMAEIBEUE
|--|--entry 0.1 H *i? H H&i%% H
) classCode
|--|--|--Observation 1.1 HH@classCode="0OBS", @moodCode="EVN"
moodCode
codeSystem FI e F ARG, ok,
|--|--|--]--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" DE03.00.053.00
codeSystemName @codeSystemName=""T 415 H ¥k 7t H 5%
H W & 5% B ACRDEUE, HhiEEe
F-l-l-value L1 R sitype="PQ", @unit="%"
|--|--entry 0.1 | O | E¥sHIRBES%HE
) classCode
|--|--|--Observation 1.1 Hrf@classCode="OBS", @moodCode="EVN "
moodCode
codeSystem HIRLA FARES, oo,
|----|--|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , DEO03.00.054.00
—n 2 B % e AL
codeSystemName @codeSystemName="T4:15 B ¥E T H %
Al &5 B ARSEUE, HhiiEe
F--l-value L1 R ssitype="PQ", @unit="1"
|--|--entry 0.1 | O | Bfigahiz%H




WS/T XXXXX. 13—XXXX

= 15 (&)

#®= | 4 X B2 RIS TThR
TLRAR Rt VST 300 .
H | K W
classCode
|--|--]--Observation 1.1 HH @classCode="0BS", @moodCode="EVN"
moodCode
codeSystem B HAUS, Frf,
|--|--|--|--code 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", DE03.00.087.00
codeSystemName @codeSystemName=""T. 4 {5 & ¥4 oo H 3"
BENIAR S HAREEUE, HAEaEe
[o-|--}--|--value 1.1 | R | @codeSystem="2.16.156.10011.2.3.1.23"
@codeSystemName-"%ﬁiiﬁib*ﬁﬁ%ﬁﬁ%ﬁ%"
|--|--entry 0.1 | O | Hisigah K T4 H
classCode
|--|--]--Observation 1.1 H A @classCode="0BS", @moodCode="EVN"
moodCode
codeSystem BN KIRFEHRG, H,
|--|--|--|--code 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", DE03.00.088.00
codeSystemName @codeSystemName=""T =15 & ¥4 ¢ H 5%
|--|--|--|--value 1.1 | R | sz K45 4% HAREEUE
|||~ |--width H b @unit="min"
|--|--entry 0.1 | O | HWHFERRE (g %H
classCode H —"ORS" —n
-|--|--Observation 11 e 1 @classCode="0BS", @moodCode="EVN
moodCode
codeSystem HirHERE (g) ARhG, H,
|--|--|--|--code 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , DE03.00.055.00
codeSystemName @codeSystemName=""T"“£ {5 & %yt H %"
codeSystem N
|--|--|--|--value 11 | R | AxHEESRE (@ A
codeSystemName
6.7 FHREKREST
6.7.1 LREXRESTHRBEEK
;9“ Emﬁ; TR E *@EEJLA%%]-GO
F16 LHRERESTTHHRELR
% HA ¥ ) iR
2R Cmmol/LD 1.1 R G MAEAE, A28 mmol/L
WML AE (%) 1.1 R WAL AE (%)
IR ENH%H 0.1 o] B B H AC %
R A5 R4 H 0.1 0 A A £ 4 R

6.7.2 SEUEHESIITEER

DR Y A

IR AR IA WKL
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R17 LRERESHITREAM

_ 1 4 . \ of B PRI
TLRA B B 4 VRS AR
component LRERBEETRILE
|--section
code
codeSystem SEIG A TS, H@code="30954-2",
|--|--code displayName @codeSystem="2.16.840.1.113883.6.1" ,@codeSystemNam
codeSystemN e="LOINC",@ displayName="STUDIES SUMMARY"
ame
|--|--text INES: I
|--|--entry 1.1 | R | =g mpE{E%H
|--|--|--observation ;]Igzsd%%%i 1.1 H:h@classCode="0OBS" , @moodCode="EVN "
codeSystem TR E % B R, e
[-I-}-[--code codeSystemN | 1.1 | R | codeSystem="2.16.156.10011.2.2.1", @ DEO1 5003
ame codeSystemName=""T /(% K ¥4 7c H %" '
|--|--|--|--value 1.1 | R | FHEIMPHE,H @ xsi:type="PQ", @ unit="mmol/L"
|--|--entry 1.1 | R | ML &R (% HEH
|--|--|--observation rﬂggz%%%z 1.1 H:h@classCode="OBS" , @moodCode="EVN "
codeSystem WAL M AT 2 A {EARS, HFa
|--|-|-—code codeSystemN | 1.1 | R | codeSystem="2.16.156.10011.2.2.1", @ DEO1 5008
ame codeSystemName="T 415 B ¥¥5 ¢ H & '
|--[--|--|--value 1.1 | R | Wb A, Hh@ xsitype=" INT"
|--|--entry 1.1 R Eﬁﬁﬁﬁ\%@j H % H
|--|--|--observation ;'SZZCC%%Z 1.1 }h@classCode="OBS" , @moodCode="EVN "
codeSystem WM AEDTH A, K@
f-fo-}-|--code codeSystemN | 1.1 | R | codeSystem="2.16.156.10011.2.2.1", @ DEQL 39,01
ame codeSystemName=""T*£1 S ¥4 7¢ H 7" '
|_|-_}|r;]-L--|--effect|ve 11 BRI E F 0 DE%%%O.M
|--|--[--|--value 1.1 B AT E IR, P @ xsitype="ST"
|--|--|--|--performe
"
|--[--|--|--[--assigne
dEntity
|-~[==|-=[--|--|--id
[-~[--[--|--[--|--assig
nedPerson
Fbbbb-na YN 2 DE0201.03
|--|--entry 1.1 | R | MBI AL RAH
|--|--|--observation r?]lg(s)fj((::%(:jiz 1.1 H b @classCode="0BS" , @moodCode="EVN"
codeSystem Mk A RS, K@
fo-|—|--|--code codeSystemN | 1.1 | R | codeSystem="2.16.156.10011.2.2.1", @ DE%“b%O'OO
ame codeSystemName=""T1" 415 /& %3 oo H %" '
|--[--|--|--value 1.1 WM LRI H A, @ xsitype="ST"
6.8 HHET
6.8.1 RAETHERBEMM

2555 2% H AR LR 18




WS/T XXXXX. 13—XXXX

x18 AHELZFELM
% HAWR ¥ #R 235
S T 1.1 R Rtk PR B KR
MZi%H 1.1 R T TR 2Rk 2
Jik i R H 1.1 R FH T ac % F T i 2 A R AL
A1 M A% S5 2 1.1 R F Tl A L S LA 190
6.8.2 MATTRTRAM
25571 To R A g WAk 19.
xR19 HAHAEDTREK
. 4| - s Xt L PRI
j B 5 — 1
TLRA Rt K i~ i B SR SRR
component 1.1 A EIRITER
|--section 1.1
HAETRIE, K, @
code="10160-0"@codeSystem="2.16.840.1.11388
|--|--code 1.1 3.6.1", @displayName="HISTORY OF
MEDICATION USE ",
@codeSystemName="LOINC"
|--|--text NS
|__|__entry 1.1 EP;;’%%U'T&E%% E
efom]n i classCode BE 1, @classCode="0BS" ,
[--|--|--observation moodCode 1.1 @moodCode="EVN"
code
displayName HHZ2E 1R, HdisplayName="{¥ [ 15" @ DE06.00.16
|--|--|--|--code codeSystem 1.1 | R | codeSystem="2.16.156.10011.2.2.1", 4 60 '
codeSystemN @codeSystemName=""T 415 /& ¥ 7t H %" '
ame
Ho B @ codeSystem="
|--|--|--|--value 1.1 | R | 2.16.156.10011.2.3.1.157",@codeSystemName="
PG DE
|--|--entry EEESE
-I-|--substanceAdministra | classCode | , , classCode="SBADM" moodCode="EVN"
tion moodCode
codeSystem 2 R AREAE, Hh@ DE06.00.13
|--|--|--|--routeCode codeSystemN | 1.1 codeSystem="2.16.156.10011.2.3.1.158" , 4.00
ame @codeSystemName="F 2§ & A5 %"
|--|--|--|--doseQuantity 1.1 B2, @ unit="mg" DE°386%0-02
[~-H-I-rateQuantity 1.1 SR, Sh@ unit="[" PEOS 013
|--|--|]--|]--consumable
|--|--|--|--|--manufacturedPr
oduct
|--|--|--]--|--|--manufactured
LabeledDrug
[Fof-f-l---code
[f bl 1-I--name 241 44 7 PEOS o002
|--|--|--|--entryRelationship HR 2 ANE R IR 2% H
. Hrh, @ classCode="OBS" ,
|--|--|--|--|--observation @moodCode="EVN"




WS/T XXXXX. 13—XXXX

=19 (&)

_ # s s PIPVA L SE
2 4 {5 — g
TCERAIR =18 M - VST 300 AR

ob+l---f-I--code e PN DEO6 00,027,
AP M-S R, o

el |- |--value @codeSystem="2.16.156.10011.2.3.2.12" ,@code
SystemName="}k 24 {fk A PEARHL 2"
@xsi:type="CD"

|--|--|--|--entryRelationship EEENSYSIERIS

|--|--|--|--|]--observation H @ classCode="0OBS" , @moodCode="EVN"

fobefo-f-I--code FIZ5R B BEAR AR D06 00130

|-=[-=|--|--|--|--value HEA Bz R

|-=|--|-=|--|-=|--|--precondition

|r=|e=[=[o=[=|-~--[--criterion

bl -value P2 B4R 2 AR TR D06 00129,

|--|--entry Ji S R % H

e P classCode H, @classCode="SBADM", @

|--|--|--substanceAdministration moodCode 1.1 moodCode="EVN"

|-+~ - |--doseQuantity 1.1 K2R, Hh@ unit="mg" D08 50,023

[~ }-|-|--rateQuantity 1.1 LEFAHE, Hh@ unit="H" DE06 99133

|--|--]--|]--consumable

|--|--|--|--|--manufacturedProdu

ct

|--|--|--]--|--|--manufacturedLab

eledDrug

|--[--|--|--|--|--|--code

bl b+l----f-name 2 th 4 7 DEOS 51013

|--|--entry I b e 2 2% B

|--|--|--Observation classCode | 1.1 Hrh@classCode="0OBS" @moodCode="EVN"
IR SR 2% H AR, o,

[--}-|--|--code 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" DE°46%0'024-
@codeSystemName=""F 41 B ¥ ¢ H 3"
fIC Mt Je B2 2% B BUE, P s H@

|--|--|--|--value 1.1 | R | codeSystem="2.16.156.10011.2.3.2.28",@codeSys
temName="{IK IML¥% s RIS

6.9 BERIFHED
BRFEETEE MR
fet B DAl 5545 2% H MK L3R 20,

6.9.1

®20 fERFITEETFBEAMK

EREH | B | an ik
BB | 0.1 | O | iEAJLEREY, IR, RILEREY), BRIRRBEVEA BBV

6.9.2 BETHEEDBITEAMN
fi FEVPAl 2245 e R AL IR W2k 21,




WS/T XXXXX. 13—XXXX

R21 BERTHEETITRAR
BR| # |4 PEPVA: €
TLRAER i B SR N
| | R ToAR RS
component R REVFAE BT R
|--section
BV RS, Hh @code="51848-0",@displayName="
|--|--code Assessment note” , @codeSystem="2.16.840.1.113883.6.1" ,
@codeSystemName="LOINC"
|--|--text NS
|--|--entry 18 F B P AL 2% H
|--|--|]--Observation 1.1 Hrh@classCode="0OBS", @ moodCode="EVN"
BE VI VT AL 45 R AR, Hd@
DEO05.10.066.
|--|--|--]--code 1.1 | R | codeSystem="2.16.156.10011.2.2.1" , @codeSystemName=""T 00
ERH¥ETHEx"
BE VPRl 45 RACEEUE, K@
|--|--|--]--value 1.1 | R | codeSystem="2.16.156.10011.2.3.1.150" ,@codeSystemName="
BE VPR 45 RARRE", @xsitype="CD"
6.10 HiZEWET
6.10.1 #HiZEWETFEMNK
Fes B 2% H A R 222,
®"22 HLRWETPZFEMM
% BAWK M 4R iR
#i2%H 1.1 R MAT#iNE2 5T, JFEHEsEI
6.10.2 #HZEWETTEREAN
o @R o R A A W23,
R"23 HSRWNETTRAR
#z | 4 PEPVA N
TCRBHR At Y SR s
H | R TOAR RS
component HEURWETROE
|--section
code sl ERY, Hrh@code="18776-1"
-|-code codeSystem 11 codeSystem="2.16.840.1.113883.6.1" ,
displayName " @displayName="referal", @
codeSystemName codeSystemName="LOINC"
|- |--text NEEiT
|--I--entry 0.1 ®E%H
. classCode
R R H =" " —n "
|--|--]--Observation oodCode 1.1 H@classCode="0BS", @ moodCode="EVN




WS/T XXXXX. 13—XXXX

% 23 (&)

#® | 4 Xt L PRI
TLRAR Rt i SR s
H | K TeHRRRF
codeSystem Bl ENRNE, Hh
DEO06.00.17
|--|--|--|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", @ 4,00
codeSystemName=""T.2: 15 B 450 H 3" '
|--|--|--|--value it dE, Hd@xsitype="BL"
|--|--|--]--entryRelationshi o1 lo Hr+@ typeCode="CAUS",
p ) @negationInd="false"
classCode Hp
|--|--[--|--|--act moodCode @classCode="INFRM",@moodCode="APT",
negationind @negationind="false"
codeSystem 2R R, Hrh
DE06.00.17
|--|--|--|--|--]--code codeSystemName @codeSystem="2.16.156.10011.2.2.1",@code 700
SystemName=""T.2E (5 B 44 6 H %" '
|--[-=[----|--|--text NBECA
|----|--|--]--|--performer
|--|--|--|--|--|--|--assignedE
ntity
o
ot -|-|--represen
tedOrganization
N DEO08.10.02
||~ |-=|-|-|-[--|--]--name 1.1 e NHLHIFL 3 2 HK
6.00
ot --I---asOrg
anizationPartOf
bl -who
leOrganization
bbb \ . DE08.10.01
1.1 Fe NBEIT LRI A4 TR
ame 3.00

6.11 TXRBERHET
6.11.1 TORBEI RHET B IR
T RBEYT 2 HER S 5% H i LR 24
R24 TORBEHRHET S &BMK

& HAMRK =24 AR Eiipy
Tk % HE H 1.1 R X R B VI () 34T 224

6.11.2 TRBEHRHET TEREMR
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NREE VS AR T O R A A IR 25

®25 TRBERHET TREAR

_ 2= | 4 . . XF L I%EE 7T
TCERAIR B - P SHR T,
component TR RHEEETRGER
|--section
|--|--code TR B 2 AR
|--|--text NS
|--|--entry 1.1 | R | FiRBEVI%H%H
) classCode HH@classCode="0BS",
|--|--|--observation 1.1
moodCode @moodCode="DEF"
codeSystem T RBEDTH A, K@
|--|--|--|--code codeSystemName | 1.1 | R | codeSystem="2.16.156.10011.2.2.1", @ DE06.00.109.00
codeSystemName=""T {5 B o B 3"
|--|--|--|--value 1.1 | R | FxBFEYABME

10
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M & A
(ERHEMR)
2 BUiEIR TR B EBE AR B3 R

<?xml version="1.0" encoding="UTF-8"?>

<ClinicalDocument xmIns="urn:hl7-org:v3" xmins:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\CDA.xsd">

<realmCode code="CN"/>

<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>

<13 G 5 -->

<templateld root="2.16.156.10011.2.1.1.13"/>

<l- REBLGE >

<id root="2.16.156.10011.1.1.1.4" extension="D2011000001"/>

<l R4 -->

<code code="HSDB04.02" codeSystem="2.16.156.10011.2.4" codeSystemName=" T4 {5 & 3t = T4 M E 4w
iR 2>

<title>2 7Rl bR i £ Bl U7 JIR 55 <Htitle>

<effectiveTime xsi:type="TS" value="20111231154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName="1F- %55 [r] {1 2 2 ) "/>

<languageCode code="zh-CN"/>

<setld/>

<versionNumber/>

<recordTarget typeCode="RCT" contextControlCode="0OP">
<patientRole classCode="PAT">
<l EIR IR T -->
<id root="2.16.156.10011.1.2" extension="HR201102113366666"/>

<addr use="H">
<houseNumber>xx"5 xx/|» X xx#xx #. 76.</houseNumber>
<streetName>xx ki </streetName>
<township>xx Z fH</township>
<county>Xi] [X </county>
<city>XXTfi</city>
<state>X X4 </state>
<postalCode>510000</postalCode>
</addr>

11
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<telecom value="010-87815102"/>
<patient classCode="PSN" determinerCode="INSTANCE">
<name > 57 /NBH </name>
<administrativeGenderCode code="1" codeSystem="2.16.156.10011.2.3.3.4"
codeSystemName="4: B {4: | (55K (GB/T 2261.1) "/>
<birthTime value="20080101202010"/>
<maritalStatusCode code="20" displayName="t145" codeSystem="2.16.156.10011.2.3.3.5"
codeSystemName="#5 4RGSR (GB/T 2261.2) "/>
<ethnicGroupCode code="15" displayName="-1-Z %" codeSystem="2.16.156.10011.2.3.3.3"
codeSystemName=" [ EHII5E (GB 3304) "/>
</patient>
</patientRole>
</recordTarget>

<!--f g -->
<author typeCode="AUT" contextControlCode="0OP">
<l AREEY; HH -->
<time xsi:type="TS" value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<I--PEV5 A -->
<assignedPerson>
<name>Z= % A </name>
</assignedPerson>
<representedOrganization>
<id root="2.16.156.10011.1.5" extension="0187565656"/>
<name>xx[% it </name>
<addr>xx X xx K#ixx 5 </addr>
</representedOrganization>
</assignedAuthor>
</author>

<l--{RE L -->
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.6" extension="EHR & BN 1) % 5"/>
<name> T A= J) i e R4 52 4 3 Lo </name>
<telecom value="0209837373"/>
<addr>xxfi71E </addr>
</representedCustodianOrganization>
</assignedCustodian>
</custodian>

12
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<relatedDocument typeCode="RPLC">
<parentDocument classCode="DOCCLIN" moodCode="EVN">
<id root="2.16.156.10011.1.1.1.4" extension="D2011000000"/>
<setld/>
<versionNumber value="1"/>
</parentDocument>
</relatedDocument>

<component>
<structuredBody>

<I-BEVFHAFENT >
<component>
<section>
<code displayName="[i}j - 1-"/>
<entry>
<observation classCode="CASE" moodCode="EVN">
<I--yHENARES (BEV) -->
<code code="DE06.00.108.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4£ {5 & %4 7o H 3" displayName="Fi 1; /7 :"/>
<I--Ff vt (a] (BT -->
<effectiveTime value="20110212"/>
<value codeSystem="2.16.156.10011.2.3.1.183" codeSystemName="Ft1; /7 =\,
A" xsitype="CD" displayName="[JiZ[#i}}j"></value>
</observation>
</entry>
</section>
</component>

<! IR E T -->
<component>
<section>
<code code="11450-4" displayName="PROBLEM LIST "
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<l-- 5 H: JERACRS: MR PREIR7ERE & g b 74 2 1) AR -->
<text/>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.01.116.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£ {5 & %4 7o H 3" displayName="4E IR {CHL"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.3.11.1"
codeSystemName="%E kXL (ICD-10 R) "></value>

13
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</observation>

</entry>
<l- 2 H: ERAFR: A LA PR 32 ZEREIR A 44 5K -->
<entry>

<observation classCode="0OBS" moodCode="EVN">

<code code="DE04.01.118.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""TL 415 & 2# 7 H 3" displayName="J Ik % Fx"/>

<value xsi:type="ST">¥E K 4 F ik </value>

</observation>

</entry>
</section>
</component>

<I--AE A R B T -->
<component>
<section>
<code code="8716-3" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"
displayName="VITAL SIGNS"/>
<text/>
<entry>
<organizer classCode="BATTERY" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="0BS" moodCode="EVN">
<code code="DE04.10.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T £ {5 & %4 7o H 3" displayName="1{t 4 J&"/>
<value xsi:type="PQ" value="120" unit="mmHg"></value>
</observation>
</component>
<component>
<observation classCode="0BS" moodCode="EVN">
<code code="DE04.10.176.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/£ {5 & %4 7o H 3" displayName="%&7 5K J&"/>
<value xsi:type="PQ" value="60" unit="mmHg"/>
</observation>
</component>
</organizer>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.10.188.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4:15 5.4 7t H %" displayName="{4&E"/>
<value xsi:type="PQ" value="60" unit="kg"/>

14
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</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE05.10.075.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 415 & #(# 7 H 3" displayName="4/& i 5 £ "/>
<value xsi:type="PQ" value="23" unit="Kg/m2"/>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.10.237.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4 % S ¥4z 7c H %" displayName="/& 1§ i Ik #i sl br E"/>
<value xsi:type="BL" value="true"/>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.10.143.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T A4 {5 2 %4yt H 5" displayName="JAth fH A& AE"/>
<value xsi:type="ST">HAth fH M AiE iR </value>
</observation>
</entry>
</section>
</component>

<I-EWEFAETN >
<component>
<section>
<code displayName="4:7%J7 :\"/>
<text/>
<I--HWME (o -->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.053.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4=15 & %#& 7t H 3" displayName="H W Ji{ &"/>
<value xsi:type="PQ" unit="3¢" value="5"/>
</observation>
</entry>

<le- FIRH i -->
<entry>
<observation classCode="0OBS" moodCode="EVN">

15
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<code code="DE03.00.054.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥ ot H 3" displayName=" Hixi&="/>
<value xsi:type="PQ" unit="p" value="2"/>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.087.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""TA4 {5 S %4 7t H 5" displayName="#H/# /512" />
<value xsi:type="CD" code="2" codeSystem="2.16.156.10011.2.3.1.23"
codeSystemName=" 5 {45 zh AR AG K" />
</observation>
</entry>
<l--BEBRERI ) (CBdETT) -->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.088.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 4% S ¥4z ¢ H 5" displayName="4 /B Sk [a]"/>
<value xsi:type="IVL_TS">
<width value="30" unit="min"/>
</value>
</observation>
</entry>
<l--Ff FHFE -->
<entry>
<observation classCode="0BS" moodCode="EVN">
<code code="DE03.00.055.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 415 S ¥4 ¢ H %" displayName="H & & (g) "/>
<value xsi:type="PQ" value="5" unit="g"/>
</observation>

</entry>
<l L PR B S H -->
<entry>

<observation classCode="0OBS" moodCode="EVN">
<code code="DE05.10.083.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & %#& 7t H 3" displayName=".» ¥ 1} 5£"/>
<I--DIRAERRY BdEn) >
<value code="1" displayName=" [ 4" codeSystem="2.16.156.10011.2.3.2.26"
codeSystemName="/> F il B PF A 25 FARID K" xsiztype="CD"/>
</observation>

</entry>
<I--EEATAME K H-->
<entry>
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<observation classCode="0OBS" moodCode="EVN">
<code code="DE05.10.068.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T {5 S ¥4 ¢ H 5" displayName="1# =17 4"/>
<l--EERATH BRI LRI 2. 37>
<value code="1" codeSystem="2.16.156.10011.2.3.2.27" codeSystemName="Fii
Vi B RAT RV 45 ARG K" xsi:type="CD"/>
</observation>
</entry>
</section>
</component>

<P R B >
<component>
<section>
<code code="18776-5" codeSystem="2.16.840.1.113883.6.1"
displayName="TREATMENT PLAN" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.10.188.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4=15 & ¥ 7t H 3" displayName="H tx A& E"/>
<value xsi:type="PQ" value="60" unit="kg"/>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE05.10.075.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /5 24 7t H 5" displayName="H fr44 i $5451"/>
<value xsi:type="PQ" value="23" unit="Kg/m2"/>
</observation>
</entry>
<I--HWME (o -->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.053.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & %t 7t H 3" displayName="H #x H W JJH &"/>
<value xsi:type="PQ" unit="3¢" value="7"/>
</observation>
</entry>
<!--H Rl E-->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.054.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T 415 & ¥ /¢ H 3" displayName=" H¥x HK B &E"/>
<value xsi:type="PQ" unit="p" value="2"/>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.087.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T A4 {5 B %4 7t H 5" displayName="H br#&x 4 "/>
<value xsi:type="CD" code="2" codeSystem="2.16.156.10011.2.3.1.23"
codeSystemName=" 5 1% zh ARG K" />
</observation>
</entry>
<l--BEBRERI ) (CBdETT) -->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.088.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T A4 {5 2. %4yt H 3" displayName="H ¥rzl /7 £K"/>
<value xsi:type="IVL_TS">
<width value="30" unit="min"/>
</value>
</observation>

</entry>
<--AfxHEEE (@ %H-->
<entry>

<observation classCode="0OBS" moodCode="EVN">
<code code="DE03.00.055.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B & oc H 3" displayName="H#xH = &= (g0 "/>
<value xsi:type="PQ" unit="g" value="5"/>
</observation>
</entry>
</section>

</component>

<I-- SIS A A R -
<component>

\Y%

<section>

<code code="30954-2" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="STUDIES SUMMARY"/>

<text/>

<entry>

<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.50.037.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T 415 B ¥} 7¢ H 3" displayName="=§ L #EE (mmol/L) "/>
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<value xsi:type="PQ" value="3" unit="mmol/L"/>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.50.083.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥}z JC H %" displayName="¥#{L ML ZL & F1EH (%) "/>
<effectiveTime value="20121101"></effectiveTime>
<value xsi:type="INT" value="3"/>
</observation>
</entry>

<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.30.010.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥z 7t H 3" displayName="%f B4 7 i H "></code>
<l--fa i H 3-->
<effectiveTime value="20121201"></effectiveTime>
<value xsi:type="ST">##i Bk #x 1l H ik </value>
<performer>
<assignedEntity>
<id></id>
<assignedPerson>
<name>/)Z</name>
</assignedPerson>
</assignedEntity>
</performer>
</observation>
</entry>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.30.009.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4=15 & ¥} 7t H 3" displayName="7%# B4 £ 45 H"></code>
<value xsi:type="ST">Hli Bk 7 45 R ik </value>
</observation>
</entry>
</section>
</component>

<--FAZEA >
<component>
<section>
<code code="10160-0" codeSystem="2.16.840.1.113883.6.1" displayName="HISTORY
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OF MEDICATION USE" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE06.00.164.00" displayName=""1 24 H]{CHE"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""4=15 B4 ¢ H 3%"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.1.157"
codeSystemName="r 24 { F] 3£ Jj| AR5 % "></value>
</observation>
</entry>
<entry>
<substanceAdministration classCode="SBADM" moodCode="EVN">
<text/>
<routeCode code="1" codeSystem="2.16.156.10011.2.3.1.158"
codeSystemName="H 2§ 1&g %K />
<l--HZj5 &-Rix -->
<doseQuantity value="20" unit="mg"/>
<I--JZiHE -->

<rateQuantity value="3" unit="7x/H"/>

<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<I--ZG ARk -->
<code/>
<name>Z{ F M </name>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
<entryRelationship typeCode="COMP">
<observation classCode="0OBS" moodCode="EVN">
<code code="DE06.00.027.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & %#& 7t H 3" displayName="F 24 W 5£"/>
<I-RZGMIE-ARRS 1 RoRHA-->
<value code="1" codeSystem="2.16.156.10011.2.3.2.12"
codeSystemName="fz 24 {k I\ P AR L™ xsi:type="CD"/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
<code code="DE06.00.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4:15 5. 4% 7t H 3% displayName="F 2 & {E H"/>
<!--H 25 E -S>
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<value xsi:type="ST">k ke, BRAZEA R M ik </value>
<precondition>
<criterion>
<-HZRIEAFRE  value="true"# R~ A-->
<value xsi:type="BL" value="true"/>
</criterion>
</precondition>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
<code code="DE06.00.135.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T A4 {5 2 %4yt H 3" displayName="254)ffi H =77 &="/>
<I-- 2P A 7 >
<value xsi:type="INT" value="30"/>
</observation>
</entryRelationship>

</substanceAdministration>
</entry>
<I--JR K->
<entry>
<substanceAdministration classCode="SBADM" moodCode="EVN">
<text/>
<l--HZj5H &-Rix -->
<doseQuantity value="20" unit="1"/>
<I--JIZiHE -->
<rateQuantity value="3" unit="H"/>
<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<code code="DE08.50.013.00"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F = & ¥4}& 7c H 5%" displayName="J£ & Z fh"/>
<name> i & % Fli 5 </name>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
</substanceAdministration>
</entry>
<!1--DE04.50.024.00 K ifiL % 2 R AT -->
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE04.50.024.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T 415 & ¥z 7t H 3" displayName="1{1% IfiL §% j S ALHS" />
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.28"
codeSystemName="{I% ffiLf# /b ARG 7R "></value>
</observation>
</entry>
</section>
</component>

<I--f BEVF A -
<component>
<section>
<code code="51848-0" displayName="Assessment note"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
< H: BEVIEEEERATILE, Ak, EFE AL AR]-->
<entry>

<observation classCode="0OBS" moodCode="EVN">
<code code="DE05.10.066.00" displayName="#1}j :F-4 £ 5"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T4=15 B4 ¢ H %"/>
<value code="2" displayName="1"%" codeSystem="2.16.156.10011.2.3.1.150"
codeSystemName="Fifi 1/ "FA/I 25 AR5 xsi:type="CD"/>
</observation>
</entry>
</section>
</component>

<|--FES W >
<component>
<section>
<code code="18776-1" codeSystem="2.16.840.1.113883.6.1" displayName="referal"
codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="0OBS" moodCode="EVN">
<code code="DE06.00.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4£ {5 & %4 7o H 3" displayName="#%1245 ">
<value xsi:type="BL" value="true"></value>
<entryRelationship typeCode="CAUS" negationInd="false">
<act classCode="INFRM" moodCode="APT" negationind="false">
<code code="DE06.00.177.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4£ {5 & %4 7o H 3" displayName="%%12 Ji [X]"/>
<text> 57 EA: R R HE, 95 175 i =2 </text>
<performer>
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<time/>
<assignedEntity>
<id/>
<representedOrganization>
<name> N Bl</name>
<asOrganizationPartOf>
<wholeOrganization>
<name>xx[% i </name>
</wholeOrganization>
</asOrganizationPartOf>
</representedOrganization>
</assignedEntity>
</performer>
</act>
</entryRelationship>
</observation>
</entry>
</section>
</component>

<I--NIRBEV 2R >
<component>
<section>
<code displayName=""F /X jj ZHE"/>
<text/>
<entry>
<observation classCode="0BS" moodCode="DEF">
<code code="DE06.00.109.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 4 {5 & £ 4 o H 3" displayName=""F /X b H #1"/>
<value xsi:type="TS" value="20110606"/>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>
</ClinicalDocument>
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